10 | -RTACq, PE2 L1 Fau [tTrip Time:|-0.493349 = |

| _DTACq, PF1 L1 FaultTrip Time:[-0.203329 _ _ _ _ |

g -DTACq,OHL1 FaultTrip Time: fO.493349_ |

| _DTACq, TE L1 FaultTrip Time. 0493349 _ _ _ _ _ _

A|—ATlnput PE211 FaultTrip Time: -0.484800

AT Input, PE1 1 1 FaultTrip Time: -0.484800

2 -ATlnput, OHI11 FaultTrip Timel: -0.484800

AT Input, TE L1 FualtTrip Timel-0.484800 _ _ _ _ |

OI3I]I-7Ig|IIII|IIII|IIII|IIII|IIII
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10 | -RTACq, PE2 L1 Fau ltTrip_Time:

g -DTACq,OHL1 FaultTrip Time: -

| _DTACq, TE L1 FaultTrip Time: -(

| _DTACq, PF1 L1 FaultTrip Time: fO. 123206 _ _ _ _ |

-0.123266 =~ |

A|—ATlnput PE211 FaultTrip Time;: -0.114000
AT Input, PE1 1 1 FaultTrip Time: -0.114000
2 -ATlnput, OHI11 FaultTrip Time:-0.114000
AT Input, TE L1 FualtTrip Time:}-0.114000 _ _ _ _ |

OI3I]I-8IO|IIII|IIII|IIII
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10 | -RTACq, PE2 L1 Fau [tTrip Time} -0.773407 _ _ _ __|

| _DTACq, PF1 L1 FaultTrip Time[-0.7 (3207 _ _ _ _ .

g -DTACq,OHL1 FaultTrip Time:[-0.773407_ _ _ _ _ |

| _DTACq, TE L1 FaultTrip Time._ f0773407 _ _ _ _ _ _

A|—ATlnput PE211 FaultTrip Timje: -0.765400

AT Input, PE1 1 1 FaultTrip Timje: -0.765400

2 -ATlnput, OHI11 FaultTrip Time: -0.765400

AT Input, TE 1 1 FualtTrip Timef -0.765400

OI3I]I-8IIIII|IIII|IIII|IIII|IIII
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10 | -DTACq, PE2 L1 FaultTrip Time} -0.640459 _ _ _ __
| _DTACq, PF1 L1 FaultTrip Time[-0.020259 _ _ _ _ .
g -DTACq,OHL1 FaultTrip Time: F0.640459_ _ _ _ _ |

-0.640459
| _DTACq, TE L1 FaultTrip Time.{0640459 _ _ _ _ _ _

A|—ATlnput PE211 FaultTrip Timp: -0.632200

AT Input, PE1 1 1 FaultTrip Timp: -0.632200

2 -ATlnput, OHI11 FaultTrip Time: -0.632200

AT Input, TE L1 FualtTrip Timel -0.632200 _ _ _ _ |

OI3I]I-8IIIII|IIII|IIII|IIII|IIII
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10 | -RTACq, PE2 L1 Fau ltTrip_Time:_

| _DTACq, TE L1 FaultTrip Time:-(

| _DTACq, PF1 L1 FaultTrip Time: 0193332 _ _ _ _ .

g -DTACq,OHL1 FaultTrip Time: 0193332 _ _ _ _ |

-0.193332 = |

OI3I]I-8I3|IIII|IIII|IIII

A|—ATlnput PE211 FaultTrip Timeg: -0.184200
AT Input, PE1 1 1 FaultTrip Time: -0.184200
2 -ATlnput, OHI11 FaultTrip Timey-0.184200
AT Input, TE L1 FualtTrip Time:1-0.184200 _ _ _ _ |

-20 -15 -10 -5 0 S 10



10 | -RTACq, PE2 L1 Fau [tTrip Time: +0.0767508 _ _ __|

| _DTACq, PF1 L1 FaultTrip Time: fO.0/6/D3L _ _ _ |

g -DTACq,OHL1 FaultTrip Time: 00767531 _ _ _ |

| _DTACq, TE L1 FaultTrip Time.-0.0767/531 _ _ _ _ _

A|—ATlnput PE211 EaultTrip Timel -0.0674000

AT Input, PE1 1 1 FaultTrip Timef -0.0674000

2 -ATlnput, OHI11 EFaultTrip Time: -0.0674000

AT Input, TE L1 FualtTrip Time: F0.0674000. _ _ _ |

OI3I]I-8I4iIIII|IIII|IIII|IIII|IIII
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10 | -RTACq, PE2 L1 Fau [tTrip Time: +t0.0126815 _ _ __|

| _DTACq, PF1 L1 FaultTrip Time: fO.0L20815 _ _ _ .

g -DTACq,OHL1 FaultTrip Time: -0.0IZ26815 = _ _ |

| _DTACq, TE L1 FaultTrip Time.-0.0126815 _ _ _ _ _

A|—ATlnput PE211 FaultTrip Timef -0.00320053

AT Input, PF1 1 1 FaultTrip Timef -0.00320053

2 -ATlnput, OHI11 FaultTrip Time:[-0.00320053

AT Input, TE 11 FualtTrip Time: }0.00320053_ _ _ |

OI3I]I-8I5|IIII|IIII|IIII|IIII|IIII
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10 | -RTACq, PE2 L1 Fau [tTrip Time:|-0.244034 _ _ _ __|

| _DTACq, PF1 L1 FaultTrip Time:[-0.222034 _ _ _ _ .

g -DTACq,OHL1 FaultTrip Time: {0.244034_ _ |

| _DTACq, TE L1 FaultTrip Time.-0244034 _ _ _ _ _ _

A|—ATlnput PE211 FaultTrip Time: -0.235001

AT Input, PE1 11 FaultTrip Timeg: -0.235001

2 -ATlnput, OHI11 FaultTrip Time] -0.235001

AT Input, TE L1 FualtTrip Time:|-0.235001 _ _ _ _ |

OI3I]I-8I6|IIII|IIII|IIII|IIII|IIII
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10 | -RTACq, PE2 L1 Fau [tTrip Time:}-0.200317 _ _ _ __|

| _DTACq, PF1 L1 FaultTrip Time: FO.2003%7 _ _ _ _ |

g -DTACq,OHL1 FaultTrip Time: 0.200317_ _ _ _ _ |

| _DTACq, TE L1 FaultTrip Time.-02003T7 _ _ _ _ _ _

4 —ATlnput PFE2 11 FaultTrip Timg: -0.191200 _ _ __

AT Input, PE1 1 1 FaultTrip Timeg: -0.191200 _

2| AT Input, OH 11 FaultTrip Time1-0.191200

AT Input, TE 1 1 FualtTrip Time:{-0.191200

OI3I2IOIG|IIII|IIII|IIII|IIII|IIII
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